Valerie Rabassa

Buenas tardes y muchas gracias de nuevo por recibirnos aquí en Madrid. Quizás es mejor si seguimos en inglés porque mi español es un poco fatal. 

Quizás voy a repetir lo de Rita. Soy una economista y Rita una abogada. 

As Rita said the case law was quite fragmented and obviously there was a lack of a systematic approach, especially the economics spots, which has lead to a lot of uncertainty. Not only legal uncertainty but a lot of legal uncertainty. We are very pleased to present to you these guidelines here in Madrid. We expect some reaction from you because it's a unique opportunity for you and for us to listen to your questions and your reactions obviously.

The structure of the Discussion Paper is very simple. We start with a section on market definition and dominance and, as Rita said to you, there is some sections on the different exclusionary practices: predation, single branding, rebates, tying & bundling, refusal to supply and after market. There is a section on efficiency. I'm going to present to you some notion of economy that we have included in the Discussion Paper, and after that I am going to include some exclusionary practices and, I imagine for you, a special example on bundling. Do not hesitate to ask me questions. 

In market definition there is a big section on why the SSNIP-test is inappropriate. Maybe there are some lawyers who are familiar with the merger investigation. Maybe in the merger definition of market the SSNIP-test is very useful to define market abuse. Here the SSNIP -test is not so good for Art. 82. The reason is that when you use a SSNIP-test obviously you use current prices on the region where the demand is very elastic. That means that the SSNIP-test is not really appropriate, and we call this barbary the cellophane fallacy. It is quite well known to economists and in the guidelines we clarify these notions and we think it's better to not include in the market definition the use of the SSNIP-test. 

After that there are some sections on dominance. The economists are very happy that now we now define dominance as significant market power. This is very useful, because you are now not only using market share. We consider only market share as an approximate starting point. We will use the notion of market power, which is more useful to economists. We can conclude that it is for economists, and this section is quite useful.

As Rita said the Discussion Paper is more an effect based analysis, but obviously there is a notion of form-based analysis in this paper when we talk about, for instance, scaled economies, network effects, so it's not a pure based analysis. There is some mix with structural factors and structural elements, which are not so bad for economists either. When we talk about effects based analysis we have in mind the notion of foreclosure, which ultimately harms the consumer. So the test will be the consumer surplus which is also good for economists.

What is very interesting here is that we use an overarching test. That means that we use a unique test for all these exclusionary abuses. Maybe some people can say that we are searching the holy grail, but obviously remember that here we are looking for foreclosure effect, so maybe it's not so silly to use an overarching test to see whether the consumer is harmed. 

Rita mentioned to you the as efficient competitor test which could be implemented though a price cost test. We will see that it is quite useful in practice. If you have some data you are able to compute this price cost test to see whether there is harm ultimately to the consumer. 

Maybe I can start to present to you some notion of predation. After that I will talk about rebates and bundling & tying. 

There is a big debate on predation, especially between the lawyers and the economists, as you know. What is the rule in the Discussion Paper on predation. AKZO will be the basic framework. The test is very simple. Below the average valuable cost or the average avoidable cost there is a rebuttable presumption of abuse. Between the average valuable cost and average total cost you need to prove a strategy of foreclosure. You need to prove the intent and, unfortunately for some economists, there is no separate requirement to prove recovery beyond dominance. There was a lot of discussion and there is still some discussion pending and we expect some reaction from you, because we believe that it is quite interesting to have your reaction on the notion of recovery. Maybe I can encourage people to react to that. 

Here are some graphs in which I will present to you the test. In the first graph, the total cost function, which is represented by the pink curve, and I put to you the correspondence of the average cost function and the average variable cost function. The test is very simple. Between the green and yellow curves you need to put the intent. If you are below the green curve obviously there is rebuttable presumption of abuse and it is quite dangerous to be in this area. Maybe for people who are not familiar with these curves, when the average cost function is decreasing you are in the area of the economic scale which corresponds to utilities. Predatory style AKZO rules. 

Now let's go to loyalty rebates. The benchmark is whether the discount price is below the average total cost and also there is no profit sacrifice test. You need to prove that the market is distorted obviously and you need to analyse different elements. Obviously you need to look at the efficiency.

Bundling and tying is quite interesting because there were very big cases in the Commission and we have tried to integrate into the Discussion Paper all the cases we have in court and all that we have learned though these cases. The bundling and tying test is quite simple. First you need to prove dominance, obviously, and then you may see whether foreclosure is strong or not. So that you will have a sort of sequential analysis. First you will analyse some notions, some elements, and among others, you will analyse whether there are a number of customers that are buying both products. Basically that means you will see whether there is a demand link between the two sides of the market. You will analyse also if there is some entry barriers. I mean an economic scale. You will analyse also if there is a network externality learning effect of this element in the tied market. You will also look at the product differentiation, then you will see whether the rival firms are able to duplicate the bundle. These elements are very important to see whether foreclosure is strong or not. For instance, when there is a big differentiation on the tied market, obviously there is not much competition, so the foreclosure effect is not so strong. The product differentiation is very important to analyse the magnitude of the foreclosure effect. With respect to economy of scale, obviously the larger the economy of scale and entry barriers, the larger the foreclosure effect. This is the same for network externality. If there is a lot of network externality in the tied market, that means that the foreclosure effect may be quite strong also. Obviously, to analyse bundling you need to see whether there is a demand link between the two sides of the market. The stronger the demand link, obviously, the stronger the foreclosure effect.

You start by analysing all these factors and then you will have an idea if foreclosure is important or not. This is a strong, important part of the analysis, because you don't need to be an economist to see the point. Then you can analyse the second part if you have data on that, which is the difficult part. You need to examine or to analyse whether the increment of revenue covers the long run incremental costs of including each product in the bundle. After that obviously you need to include a potential efficiency.

As Rita mentioned, there is some potential efficiency in bundling. For instance, there is a transaction cost saving in a distribution system including the two bundles. There is another efficiency with respect to the production. First you analyse these very strange factors that you are familiar with like the entry barriers, potential network externality, differentiation of the product, and then if you have the data you can start with the bundling test that we apply, which may be quite difficult sometimes.

Some examples for you. It's very, very simple. You have two markets. The first one is the computer market. I call it market A. There is only one firm selling computers. Then there is a market B, a market for monitors. The computer is a tying good and the monitor is a tied good. In market B there is firm 1 obviously, but it can also be served by firm 2. We will analyse how to deal with these kinds of things.

We have to first see whether there is dominance in the tying market. Dominance, yes, because there is only one firm. Here. So there is dominance. Then we have to analyse whether there are factors, which may lead to foreclosure in the tied market. After that you can start an analysis of the price cost test, which is quite complicated sometimes when you don't have the data available. Then maybe there is some efficiency justification.

So, dominance in the market, yes. There is the tying of an exclusionary effect in the tied market. Among others we can analyse whether there is a demand link between the tying good and the tied good. Yes, there is a demand link, because it is a computer and a monitor, so it's very simple. Maybe you can have an example where there is no demand link between market A, the tying good, and market B, the tied good. Maybe foreclosure is not likely here, but if there is a strong pre-commitment to bundle, maybe this independence of consumption may also lead to foreclosure. To sum up, it's not because there is no demand link between the two markets. It's not obvious and it may not lead to foreclosure. We may find a big foreclosure effect when there is a big pre-commitment to bundle both goods. But here there is a demand link obviously, because there is a computer and a monitor. Do we have similar consumer tastes regarding the tying good? Yes, because there is this demand link. I want the monitor, but I also want the computer. I don't want to buy the monitor alone. 

What about the entry barriers? Yes, we imagine that entry barriers are quite high in the tied market, and maybe we can find some scale economies. Obviously there no network effect in the tied market. There is also a low level of product differentiation? Yes. We see that maybe the monitors are not so differentiated from each other. Do we have a credible count strategy of the rival firms? That means that firm B will maybe not be able to offer a new bundle with the computer, obviously, because it's not producing computers, it's only producing monitors. Firm 2 will not be able to produce a counter-strategy. Lack  of buyer power? We don't know, but we expect in this case that there is some lack of buyer power. Analysing these very simple factors, we can conclude that there is a likelihood of foreclosure. We can stop there, because there is a big presumption of foreclosure. It's very simple.

Imagine we have some data. Imagine, for instance, that we know that people are able to pay 5 for buying the computer. In economic jargon it's called reservation value for good A. So people are able to pay 5 for the computer. We know that the cost of producing the computer is only 2. Imagine also that the monitor produced by firm 1 is priced at 4, and the monitor produced by firm 2 is priced at 3. In theory, firm 1 will not be able to win the market because its price is above the price of firm 2. The strategy of firm 1 is to offer a bundle. We may find it unlawful.

Let's see whether there is consumer harm. The price of the computer, as I told you, is 5. This is the reservation value. You are able to pay 5 for the computer. The price of the monitor is 4. So, firm 1 is able to price at 9. That means the single price for the computer and the single price for the monitor. Firm 1 will propose to bundle both products at a price equal to 6 and it can do that. Why? It can extract some extra value in market A. That means that people are able to pay 5 , but the unique cost for firm 1 is only 2. So, there is and extra value for firm 1 in market A equal to 3. It has 3 units available from market A. It can use that to decrease, virtually, the price of the monitor in the B market. It can price at 5 + 4 - 3 (the extra value). So in the end it can propose a bundle equal to 6. 

Obviously we will see that this price is anticompetitive. Why? Because, we apply the test and we compare the incremental price with the long run incremental cost. The incremental price of the monitor is 1. It's very simple. You take the price of the bundle (6) and then you take off the price of the computer (5). 6 - 5 = 1. The incremental price for the monitor is 1. You have to compare it with the long run incremental cost. Basically, I take 4, which is not the right one, but imagine it's 4. Obviously, there is consumer harm in this very simple example. I imagine that there is no efficiency here, for instance, there is more likely to be consumer harm. Have you understood the notion of the element? Because it's quite important.

What is important to understand here is that you have a monopoly in a market called market A. You are dominant in this market, so you can extract value rent from this market and with this rent you can subsidise the B market. Then you are able to propose a bundle at a lower price than the sum of the two elements. Here, in theory firm 2 is able to win the market because it's pricing at 3 and firm 1 is pricing at 4. In theory, the rival firm is able to win the market. But firm 1, by extracting all this rent in the dominant market, can price below the price that firm 2 is able to do. At the end, the rent that you can extract in the tying good, allows you to cross-subsidize and to win the second market. Which, in theory, will not be possible with the price you get there. 

It seems to be very complicated, but you can start with the first factors, which are quite obvious, and then you have some notion of whether foreclosure is more likely or not. Then if you have some data, which is quite simple, but it's usually very difficult to have the data on the costs, you can apply the test, which is very well explained in the Discussion Paper. This is an ultimate test, consumer harm. We believe that through this simple test we may have an idea of what is the foreclosure effect and what is the harm to consumers. Do you have any questions?

Thank you very much and sorry for my Spanish and English.

4
1

